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A, =18 X5+ 18 X4.7+18 x 4.7
A, =90 + 84.6 + 84.6 = 259.2

S A=20+259.2 =279.2 cm?

ke JODPBLAES ol S DB spdee JEu Lo dos 1R
(31D Sy dunls]) Gein ¥ Eguita desil)

A1=2<%><2><1.7)=3.4
A; =3 X2+3 X2+3 X2
A, =6+6+6=18
S.A=3.4+18=21.4 m?

3o LS A jedne JS2 le B350 Llas ggiie .6

1
Ay =2(;%7.5%x10) =75

A, =5 %X7.5+5 x10+5 x12.5

A, =37.5+ 50+ 62.5 = 150

S.A="75+ 150 = 225 cm?
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e g0 e A () 03B e JS Al pad] dolue gl

;ﬁ:\ 1
11] ?crk/: ‘L\\\ 2 4>/15mm ‘S,A =B+—XP Xl
L N\ P=5+5+5+5=20 . Z
&7 TN 1 o P=17+17+17 =51
= 5cm 2 | 1
17 mm SSA=125 +—x%x51x%x 15
SA=25 +70 A = 125 mm? 2
S.A=125 + 382.5
S.A =95 cm’ S.A = 507.5 mm?
3.

1
‘SA=B+Exle

159 cm

'\P=82+&2+&Z+&2=328
4 1
&A=&2X&2+EX328Xﬁ3

S.A=6724 +260.76
S.A = 328 cm?

8.2cm

1
‘SA=B+Exle

P=6+6+6=18

1 1
S.A=7><6><5.2 +7><18><8.3

S.A=15.6 +74.7
S.A =90.3 m?

* 4oe g gal) ALY *



‘S.A _ B+1><P Xl\ e 12 g M golute o)) Gacl®d daiss plo i 0.75 I e L glas ¥ el 5
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1

5.4=0.07 +0.45

1 PSRN Job tlo sacls sacle)) o pro 58 pogedl @Sl ol .:6
SA=B+—-—XxP xl o)) o dsluce axgl cml,zeze s 38 o gl L glas ¥ gy o) 2eze . 3.4
P=34+3.4+34+3.4=13.6 S.A=11.65 + 25.84 o e
1
S.A=3.4x%x34 +7><13.6><3.8 S.A=37.4 cm?

T pazie uli poa JS5 Gl saelall Jiie wiall ool ssels Jiia slip o3te psn AR
‘S_A —B+—XP X l‘ el )W) aly 1 yms Lo s bpzeusnw 150 Lizslices o) meusn 7.5 saclal) g3a) Jlola) als
2 (4 Jieal) duss,aall youdall J5ie las d>Le axol Jiieiw 15 JiLuJ)

P=75+75+7.5+7.5+7.5+7.5=45 S.A =150 +337.5
1
S.A =150 +7><45><15 S.A =487.5 cm?
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0 1N 12 1314 1% 1% 17 18,
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Al 3 yal) B Cusus = bl aayendl LIPS 12 lbls A 2o dasesy . Jali dulas
- ' ' SAED 240 ;a

= 2160 - (150 + 200 + 100 + 120 + 200 + 160 + 800 + 180 )
=2160 — 1910 = 250
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